B AYKEIOY AATEBPA
S 2e18y

f(a)=f(B) = In(a+1)-a=mn(B+1)-p =In(a+1)-Ine* =In(B+1)-Ine’ =

o+l [3+1 o+l B+1 e o+l 4 a+l
e el e e e’ B+l B+1

f(a)=f(B) = m_a:% = Blna=alnp = Ino’ =Inp* = o =p°
a

F)=C) g

In (a+l) ([?;1) = Bln(a+1)=aln(p+1) =
= In(a+1)ﬁ:1n([3+1)“ = (a+1)B:(B+1)“

f(x):)'(“—X o B0

f(a)=Ff(B) = %:% = Blna—Ina=alnp-Inp =

o B

= Ino’ ~-lna=mp*"~Ip = In—=Ih"— =
o

oo PInB gt =ofinp+pinp =
a+l  B+1

= Ino” +Ina* =Inp” +Inp’ = m(q“ﬁ.a“)=1n(|3aﬁ.l3ﬁ) -
o' _Bﬁ
e

f(x)=x-alnx , a>0

= a’ 0" =p* p’ =

= o—olna=e—alne = Ine*—Ina”* =lne’—Ilne* =



In(x-1)

, o, B>1
Inx

F(a)=1(B) = In(lg;l)=1n$[;1) -

= InB-In(a-1)=hae-h(p-1) = 0" =" =

el — D)

e (1-x)-1 , a, p<l
f(a)=f(p) =" (1-a)-1=e"(1-B)-1 =

e'(l-a)=e (1-p) = & =2P

e 1-a

= e"““:—i_B Ine*™? —In(—1 Bj =
— o

= a—p=In(1-p)-In(1-a)

, B>0

_ _ N N
f(a)=f(B) = a’e* =P’ = Fa e "

=
2

Ine““’—ln(ﬁJ:a B=Inp’—Ina’ =
a

— a-B=2Inp-2Ina

f(x)=x*~Inx , a,p>0

f(a)=f(B) = o’ ~Ina=p>~Inp = Ine” ~Ina=Ine’ —Inp =

e eV e’ ¥ 2
= In In = == Be — aeﬁ
a B a P




